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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each,
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I. Write short Notes oa : 4 each
i) Moral Hazard
ii) MWP Policies
iii) Proposal Form
iv) Appointment of Agent

2. Freifen & wen sit e #ifdm (FHEE4 %)
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2. Distinguish between :
a) Immediate and Deferred annuities
b) Special Revival and Instalment Revival
c) First Premium and First Year Premium,

4 each
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Fill in the blanks : | for each blank
i) Apgent of LIC is entitled 1o - and benefits.

i) Deferred Annuity Contracts can be by payment of either ———n-
premium or payment of premium in --—-—... -

iii) A rider is a clause or condition that is added on (0 g -———— policy
providing on additional -——---— at the choice of the

1¥) -------— for Life Insurance and --------.. for General Insurance
Business are two Govt. Companies for insurance business.

V) Insurance Institute of India gives diplomas of and

vi) and age proofs are acceptable at the time of taking
policies,
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State giving reasons, whether you agree with the following statements: 2 each
i} Pure Life Insurance compets with other insurers for Life Insurance
business.

i) An insurance adviser is an agent and has to be licensed.
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i) Age nearer birthday cannot be more than the age next birthday.
iv) Al life insurance business in India is covered by the same law,
v} IRDA has to approve the appointment of agents.
vi) Under MWP Act policy the trustee can receive the claim amount and
carry out the object of the Trust,

Fortifarn el & @ wmo §7 (% 3 3%)

iy Prufita (Rfia) smafts % ster sweomer &yl 3 2 24 7 dhn

i) weeEl well & e gt zan 2 W g e a3 w1
(Fr=ftaren) fm v

iii) R e wa-aey v (safs) R d)

iv) S = At aife Rea s by

What are the reasons for the following practices 7 3 each

i) No claim is payable in cases of suicide within the certain period.

ii}  Noclaim is payable or claim may be forefeited for non-disclosure of
material facts,

iti) Acturial valuation is done periodically.

iv) Bonus is declared every year,
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a) Whal is death claim?

3
b) State the requirements to settle the Death Claim. 6
¢} To whom it is payable, to nominee or legal heirs of L.A. 7 3
%) oz ) gfte ¥ 47 (WS 4 3)
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aj) What is the role of Insurance Agent? 4 each
b) State the requirements to become an insurance agent.
¢) Explain the functions of Agent.
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a) Explain the role of "Selection” in In.suru}@ business.
b) What are the steps necessary to avoid Adverse Selection?
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Explain fully the concept of "Utmost Good Faith”. Also explain whare it
is relevant.
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Bring out how IRDA controls over Insurance Companies? Whether there
is improvement in insurance companies due to IRDA? Whether
policyholder gets security of his funds (i.c. premiums paid) due to IRDA?
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